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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

3000

2800 -

2600 -

2400 -

2200 -

—&— ECO

arning: col [FVOEC ] s missing




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3

Bjie) | EBEETIC (7)) | EBHE (BAH/#K) | XK ERE

03:05 56 30.0 5| TiHA@03:05 RHFEF (RKEAERSE)
03:10 56 30.0 | FiHe03:10 REEF (KEAERSR)
03:15 56 30.0 5| TiHEe03:15 REFEF (KEAERSE)
09:30 56 30.0 5| THe09:30 REFEF (KEAERSE)
11:50 56 30.0 | FiHfe11:50 REEF (KREERSR)
14:05 56 30.0 5| THR014:05 KREFERF (RA1RREEED)
Bit| 336.0 (6%) 180.0 ZHKEC: 2375.0, PH: 6.5

unusual large postFgEt from yesterday (97), set to 90.0 ml.
RERSERIPH (10.34) 5i&EPH (6.5 REKK, BHHRE
REXFEBIPH (10.34) 5FMPH (6.5) RERK, FHRE
REXRJEBIEC (2533.0) S5FMEC (3079.0) RER K, FHRE



FRV (ml plant-1)

ET (ml/hr/plant)

G3-3_0, Day=8 (2025-05-20)
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G3-3

BfiE) | BRI (FD) | EE (EH/AR) | XK R

05:45 85 30.0 FA| 1BRi%@05:45 Fzf (REAERSE)
05:50 85 30.0 FA| 1BRi&@05:50 F 3 (KAFEREE)
08:25 85 30.0 |Z=| {RiB008:25 Fzh (KAEHSE)
09:55 85 30.0 |Z=| {Ri%e09:55 Fz1 (REAEZHE)
11:20 85 30.0 E| {Rige11:20 Fzh (GREERSE)
13:00 85 30.0 =l {Ri%@13:00 F31 (REAEDSE)
15:00 85 30.0 5| Ri&e15:00 Fz) (REAERS)
23t| 595.0 (7% 210.0 EGHKEC: 2850.0, PH: 6.5

ERGEBET R IZIETI 2N (85 vs 55.0))

ZRIASLPRIERE47. 0 ml.

REFRGEMPH (10.34) 5i&%EPH (6.5) RERK, BRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE

LRGEBIEC (2450.0) 51REIEY (2850.0) REK K, BHHRE.

EREBPH (10.4) 5i8EME (6.5 RERK, FHEE.

ERGERPH (10.4) S5iRBIE (6.5) RERK, BRE.




G3-3_0, Day=7 (2025-05-19)
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G3-3

Bria) | GEBERTIE (FD) | BB = (BH/HK) | XS e

06:40 73 30.0 BS| 1Ri%006:40 F31 (REAERE)
06:45 73 30.0 B5| 1Ri%006:45 F31 (REERE)
08:45 73 30.0 |Z=| {Ri%@08:45 Fz (REEESE)
10:35 73 30.0 |Z=| {Ri&010:35 Fz) CREAHERSE)
12:20 73 30.0 5| 1Ri%0e12:20 FH1 (REEREE)
14:10 73 30.0 [2=| {Rige14:10 Fzh GGRAERSE)
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